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Allow 3m NO-FEC cables to pass COM

Distribute tightening of margin to many 
different parts of the channel

Combines parts of what many groups are 
asking for

– Changing the Limit

– Transmitter  Changes

– Package Model Changes

Provide a starting point for refinement 
and consensus building



Improve package

– Die capacitance - C_d

– Package capacitance - C_p

Improve transmitter characteristics

– A_v

– A_fe

– SNR_TX



Use worst case cable that still passes 
frequency domain spec

select nominal pair

– COM 2.5728

Iteratively solve while lowering C_d and 
C_p by 5% until values reach 50%







Selected values that yield a COM slightly 
under passing

– C_d = 2.0e-4 nF 20% improvement

– C_P = 1.35e-4 nF 25% improvement

COM of 2.9046 dB

Improvement of 0.3318 dB



Take some of the changes proposed in 
mellitz_040815_25GE_adhoc.pdf

Change values for 

– A_v = 0.43

– A_fe = 0.43

– SNR_TX = 28.3 dB





Select 2.5 dB as the new limit



3m No-FEC cables now attainable

Spreads the margin out more evenly




